Write the equation of the line that passes through the point (5, -3} and is
perpendicular to the line 2x — 3y = 6. (Put answer in slope-intercept form.)
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2. Margie makes a $500 confribution at the end of each quarterfo a retirement
account for 10 years earning 7% interest.
(a) How much money is in the account after the 10 years of contributions?
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Answer: 828 511, o}
(b) After the first 10 years, she makes no additional contributions and no

withdrawals, and she leaves the money in the account for another 10 years.
How much money is in the account at the end of those next 10 years?
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Answer: BS 279,88
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3. Mr. Rogers makes and sells sweaters. His fixed costs are $1200 and it cosis 58

to make each sweater. His revenue function is described by  R{x)=—x"+88x

(@) How many sweaters should Mr. Rogers make to maximize profit?
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(b} What is Mr. Rogers’ maximum profit?
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(c) How many sweaters must he sell to break even?
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4. Solve the following system of equations using Gaussian elimination,
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Solution:




5. Solve these equations.
(a) log,{x+4j—log,(x+1)=log;x
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8 You are in the business of manufacturing nordic skis. You make two kinds of
skis, classic and skate. it costs you §100 to make a pair of classic skis, and $150 fo
make a pair of skate skis. Your daily production budget is $15,000. You need to
make at least as many classic skis as skate skis, and you can't put out more than
100 pairs of classic skis in a day.

(a) Write down the inequalities that describe your consiraints in making skis, Let
% denote the number of pairs of classic skis and y the number of pairs of skate skis.
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(b} Graph these inequalities, label the axes, shade in the feasibility region, and

iabel the vertices.
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(c) Suppose that you can model your daily profit by the function W,
P(x,y) = 20x + 25y. How many pairs of each type of ski shouid you iry to %éf”}
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7. {a) Describe the transiormations (strefches, shrinks and/or reflections) %o;' this
?uncii?eﬁ hixl=—2{x~1r+32 . Compare itiothe base graph of  / (x)=x
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{(h) Below is the graph of Fixi=x" . Onthese same axes, graph the function
hix) given in part (a).
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o let fixi=x+1, gixi= C hix)=6x+7 . Find the following.

(a) Domain of g{x): - Ee—y X

)
N §
P
7
—
P
o
e
ot
B
Wi
/s
N
ot
BN
4
S

(c) (feh)x) = <
i £ {
-~ N iﬁiwﬁéﬂ‘”m:?\ﬁ‘s e Shet
L) = Flext vy b '
;_’“ \H)‘ﬂi" o

%aﬁ%%Eﬁwé, / I
b . ;
Xef £ D% Y
& J
“ 7
VY B
J}‘{; 7] /j
Z

ig



10. Jordan just bought 2 home. He borrowed $210,000 at & fixed rate of 51%

interest, compounded monthly, for 25 years.
(a) What monthly payment does he make?
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(b) If he decides to sell the house after making exactly 60 payments, what is his

payoff for the ioan? 2y
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l.oan payoff: Bl k, 213,06
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